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Dim xAnswer(9) As Double
Dim yAnswer(9) As Double
Dim n As Integer

Function Main()

Dim xUp As Double
Dim xLow As Double
Dim xNew As Double
Dim xMax As Double
Dim xMin As Double
Dim xKukan As Double

Dim yUp As Double
Dim yLow As Double
Dim yNew As Double
Dim yMax As Double
Dim yMin As Double
Dim yKukan As Double

Dim f1 As Double
Dim f2 As Double
Dim gl As Double
Dim g2 As Double

xMax =5
XMin =-5
yMax =5
yMin =-5
xKukan = 0.5
yKukan = 0.5
n=0

For i = xMin To (xMax - xKukan) Step
xKukan

For j = yMin To (yMax - yKukan) Step
yKukan

xLow =i

xUp = xLow + xKukan

Range(UserForml.Variablel.Value)
.Value = xUp

yLow =j
yUp = yLow + yKukan

Do

yNew = (yLow + yUp) / 2

Range(UserForm1.Variable2.Value)
.Value = yNew

gl = Range(UserForml
.FormulaCell2.Value).Value

Range(UserForml.Variable2.Value)
.Value = yUp

g2 = Range(UserForml
.FormulaCell2.Value).Value

If (g1 * g2) <=0 Then

yLow = yNew
Else

yUp = yNew
End If

Loop While ((yUp - yLow) >
0.00000001)

Range(UserForm1l.Variable2
.Value).Value = yUp



yAnswer(n) = yNew
n=n+1
End If

f1 = Range(UserForm1l
.FormulaCelll.Value).Value

Do
xNew = (xLow + xUp) / 2
Range(UserForml.Variablel
.Value).Value = xNew

Next j
Next i

yLow = j Unload UserForm1
yUp =yLow +yKukan If (n > 0) Then

Do MsgBox n & "
UserForm2.Show
New = (yLow + yUp) / 2
y vy yUp) End If

Range(UserForml.Variable2
.Value).Value = yNew

gl = Range(UserForml
.FormulaCell2.Value).Value

End Function
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.FormulaCell2.Value).Value
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yUp = yNew TEEEBEL v | |
End If
o] | FaAZ) ‘
Loop While ((yUp - yLow) >
0.00000001) 1 Ul
Range(UserForm1.Variable2 [ ]
‘Value).Value = yNew Function Answer(AnswerCelll
f2 = Range(UserForm1 , AnswerCell2)

.FormulaCelll.Value).Value

. Fork=0Ton-1Step1l
If (f1 * f2) <= 0 Then Range(AnswerCell1).Activate
xLow = xNew ActiveCell.Offset(k, 0)

Else .Value = xAnswer(Kk)
xUp = xNew Range(AnswerCell2).Activate
fl=12 ActiveCell.Offset(k, 0)
End If .Value = yAnswer(k)
Next k

Loop While ((xUp - xLow) >
0.00000001) End

Range(UserForm1l.Variablel
.Value).Value = xNew

Range(UserForm1.Variable2.Value) .
.Value = yNew ) ) fgl

f1 = Range(UserForml

End Function

.FormulaCell1.Value).Value SR | [
gl = Range(UserForml .
.FormulaCell2.Value).Value RN | [

If (Abs(f1) < 0.001) And ok

(Abs(gl) < 0.001) Then
xAnswer(n) = xNew 2 Ul




